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Ozlo =% M= 70,0004 = 23] = 95% 133
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307 glz2+ol & 23,523 24,250 ANT27
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24,250,000& * 97% 23,523
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Al 75,240
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03 Al ZH =X 2= XIH| 2,000 0 2,000
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301 LeEBAF 12,400 4,000 8,400
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FEo & IS A 19,400 0 19,400
307 21201 A 19,400 0 19,400
04 DIZHHALALSE E X 19,400 0 19,400
OFEol & JIGHA
20,000,000& = 13| » 97% 19,400
FEgnel 2= 3,567,292 4,373,127 A 805,835
= 1,681,598
< 445,574
Al 1,440,120
HE MO HE RAEs X 3,567,292 4,373,127 A 805,835
= 1,681,598
< 445,574
Al 1,440,120
FEHY NS 219,600 195,000 24,600
301 LA S 72,000 60,000 12,000
12JIEBE243 72,000 60,000 12,000
OFY 5% & NIALY 72,000,000 72,000




R TEE-EE=3=x"

M dEd el F=
Sl OFXO W DS X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 107,600 60,000 47,600
02 PIZHEHAHEE 107,600 60,000 47,600
OMPHEW et XteldH X (HS)
30,000,000& 30,000
Okt orz e XA (THEX})
30,000,000& * 97% 29,100
OdtgolaE e XIAANG(LHEWR)
50,000,000& = 97% 48,500
308 A EHHSOIA 40,000 75,000 35,000
12JIEtRE=3 40,000 75,000 A 35,000
O&E=Ustw LXeldE XJAL
40,000,000& 40,000
ANAEARNFE FEL el A 2,170,300 2,438,100 A 267,800
= 1,046,750
< 337,065
Al 786,485
307 21201 A 2,170,300 2,438,100 A 267,800
= 1,046,750
< 337,065
Al 786,485
05 BIZHRI & 3 2,170,300 2,438,100 A 267,800
OXNGFZAXNAE FHELRel 2,170,300,000& 2,170,300
= 1,046,750
< 337,065
Al 786,485
HFHHEZI(J0B G0) HHUXCl ALY 345,648 357,422 A11,774
= 189,024
< 31,325
Al 125,299
307 glz2tol & 345,648 357,422 A11,774
= 189,024
= 31,325
Al 125,299
02 It M AHEE 345,648 357,422 A11,774
OXFEHHAEN(J0B G0) HAAXCIALS
345,648,000 345,648
= 189,024
< 31,325
Al 125,299
FEN 23 4dMIOIZAE 120,136 285,162 A 165,026
= 59,520
< 12,123
Al 48,493
307 izl & 120,136 285,162 A 165,026
= 59,520
< 12,123
Al 48,493




ERAREE=A=
x| XH -
L= B

el

A - ER(EN) - AR - B of & o4 SSa HIDZ2
02 I BAAMAEE 120,136 285,162 A 165,026
CFEL 23 4HTIZHE 120,136,000 120,136
= 59,520
< 12,123
Al 48,493
FF ZAEIZUUSE BHL N X2 AL 711,608 0 711,608
= 386,304
= 65,061
Al 260,243
307 212t0l & 711,608 0 711,608
= 386,304
= 65,061
Al 260,243
02 QB AAMHE X 711,608 0 711,608
OFF ZAEIZL HHSE FHLXC ALY
711,608,000& 711,608
= 386,304
£ 65,061
Al 260,243
HAEAY 4,838,958 6,870,370 A2,031,412
= 184,223
Jl 1,151,704
= 309,113
Al 3,193,918
dad 23 2,596,987 2,415,234 181,753
= 143,723
Jl 1,113,492
= 257,888
Al 1,081,884
dad SEXNEHHRS 194,940 193,600 1,340
Jl 97,470
Al 97,470
307 glztol & 194,940 193,600 1,340
Il 97,470
Al 97,470
M ASIMSER 194,940 193,600 1,340
o8Ad SEXNFMA 2=(BF4H)
97,470,000 = 1JH A 97,470
Jl 48,735
Al 48,735
o8aAd SEXNFMA 2E(MEFdH)
97,470,000 = 1JH A 97,470
Jl 48,735
Al 48,735
st st 4 X 291,626 249,588 42,038
Jl 204,138
Al 87,488




& & 218 |8 218 o o o
S S © | = |- © o < < <
i ] 2le|e @ | o
Klo
E
E=
@ @ I3 |3 BRI 8|8 S S S
0 0 S oS |¥ ST = = =
< < 22| @ @ <
H3r |« o
Wikd
RS
© 0O © |© ™D M O ™ 1 O [e] [e] o o [e] o o O O O O Yo} Yo} Yo} Yo} [e] o o @ O 0 O O | o O
Al O O A @D T D D O O Q QO [e0] Al (o] o o O O O O Lo N~ N~ N~ [ee] [ee] [ee] D O O D O | D D O D
©~m§¥|le €0 - ROlolo © @B M H o Kdle|YF|IN FIF|I¥T F|Io0do 0l a8
[qN] [qN] [qN] — — —
=X
ol
=d
=3
R = R = R = R = R = A=
< < ® Y 5 20 o
= = g8 8 e - - & N S
— — O, O, N * * * H_A_ * O,
oir * * S g w ¥ O ] e 3
X0 W W B0 © B0 < o 8 8 3 AL o
Y] 8 8 W = S S 9 3 . <
: = = I o s 8 8 S °
) o) w wn S K & e} ) op
3l 3 o | | N - S
< o) o) 3 [ @ <
I+ e & R R o 80
= W oom - O
- @ @ ~ 0w % ™ 2
= i = [ S K =
3 Ki W =4 Ki B % . 9 ™ o
i Ny < < — i S _ <4 R
= q R R0 o 4 e o R0 B
Ok = = 2ol ol = _
) X 3 < Lo o 3 ur
. Rl <0 W RE|<0 < Kk K RO ) s} i
M = R0 e 4|5 (MK w o 3 < 7 E <]
U Y A i RA (AR X O O R0 o i R0
RO Gl 5l © © .. |3 |3l © © o =< © ©
. w w Ir w % oF m
g » | ® E]

I=13
=]

=13
=1,




E R TEE-E1=1=""
B HA WA

el EadE 8BS (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
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= 122,686
< 61,343
Al 61,343
301 etEd 3 245,372 232,868 12,504
= 122,686
= 61,343
Al 61,343
01 A3l EE E 56l = 245,372 232,868 12,504
ONMHEAE BAMSE X
245,372,000& 245,372
= 122,686
S 61,343
Al 61,343
stwE"g FAAS XNJHEH 28,680 27,800 880
bl 14,340
Al 14,340
307 gl2tol & 28,680 27,800 880
J| 14,340
Al 14,340
1 AMISIAIEE XS 28,680 27,800 880
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AEE XA 28,680,000& 28,680
| 14,340
Al 14,340
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J| 126,145
Al 126,145
307 2201 A 252,290 227,540 24,750
J| 126,145
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02 IZtEHAHE L 252,290 227,540 24,750
OFLHE SUN T2 2A(HFHH)
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FadE 2as 3X& 328,084 330, 344 A 2,260
J| 164,042
< 49,213
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Al 114,829
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= 24,607
Al 57,414
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& 24,606
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= 3,500
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Al 1,750
02 QI2tAAMAIE E =X 7,000 12,000 A5,000
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Al 1,750
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11T A EXAIEEX 970,546 313,648 656,898
OFAUEZEH 29 K& 970,546
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650,000& = 123 7,800
307 QI2t01 & 20,150 14,150 6,000
05 RIZt2E = 7,075 0 7,075
oOFAYE &= A (SAX 4AUEE 12
2€3) 7,075,000 = 1004 7,075
11 ALS S XAEE = 13,075 14,150 A1,075
oOF3AYE = A(BSAMX 4LHEE J12
2€3) 7,075,000 = 10H 4 7,075
OFF=RF=ENT R Ot3tOlol ol&dl XI&
6,000,000 6,000
402 QI2HRHZ 0 & 18,000 0 18,000
01 U2 2ALE X (KA ) 18,000 0 18,000
Ozg AU WSO02H0I0I ==ZH WA 18,000
OZal 420,000& = 14 420
O] 2,000,000& =+ 3CH 6,000
OnIIs= A 1,000,000& * 1CH 1,000
FOH2UFE 326,000& = 204 652
O Xt 47,000& = 4004 1,880
OMa 62,000 = 4004 2,480
O AGHSE Ot 20,000 * 4004 800
OFALERE 284,000& = 204 568
Oz =Hd 1,400,000 * 3CH 4,200
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ARSI S XA E 61,524 19,364 42,160
OFAYUEH 2 # 61,524
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